

On entropicity in n -ary semigroups

Sonia Dog

Abstract. We investigate entropicity and the generalized entropic property in n -ary semigroups derived from binary semigroups satisfying for some fixed $k \geq 2$ the identity $x^k = x$.

1. We say that an n -ary semigroup (S, f) , where $n > 2$, has the *entropic property* or is *entropic* (*medial* in other terminology), if it satisfies the identity

$$f(f(x_{11}, \dots, x_{1n}), f(x_{21}, \dots, x_{2n}) \dots, f(x_{n1}, \dots, x_{nn})) = f(f(x_{11}, \dots, x_{n1}), f(x_{12}, \dots, x_{n2}) \dots, f(x_{1n}, \dots, x_{nn})).$$

If in (S, f) there exist n -ary terms t_1, t_2, \dots, t_n such that (S, f) satisfies the identity

$$f(f(x_{11}, \dots, x_{1n}), f(x_{21}, \dots, x_{2n}) \dots, f(x_{n1}, \dots, x_{nn})) = f(t_1(x_{11}, \dots, x_{n1}), t_2(x_{12}, \dots, x_{n2}) \dots, t_n(x_{1n}, \dots, x_{nn})),$$

then we say that (S, f) has the *generalized entropic property*. These two properties, studied by many authors with various names, are not equivalent in general. The entropicity of n -ary semigroups is a generalization of *mediality*:

$$xy \cdot zu = xz \cdot yu,$$

and *semimediality*:

$$xy \cdot zx = xz \cdot yx$$

of binary algebras (cf. for example [17] or [22]).

The entropicity and the generalized entropicity in idempotent n -ary semigroups were studied in [15]. Below we give very simple (almost trivial) proofs of results given in this paper. We also present some generalizations of these results.

2. We start with some comments on entropic n -ary groups ($n > 2$).

In [11] it is proved that an n -ary group (S, f) is entropic if and only if it is *semiabelian*, i.e., if

$$f(x_1, x_2, \dots, x_{n-1}, x_n) = f(x_n, x_2, \dots, x_{n-1}, x_1)$$

for all $x_1, x_2, \dots, x_n \in S$.

2010 Mathematics Subject Classification: 20M15, 08B26

Keywords: n -ary semigroup, n -ary group, generalized entropic property, medial law.

From [5] (Corollary 15) it follows that an n -ary group (S, f) is entropic if and only if for some $a \in S$ and all $x, y \in S$ we have

$$f(x, a, \dots, a, y) = f(y, a, \dots, a, x).$$

Thus, by Gluskin-Hosszú theorem (cf. [12, 13]) any entropic n -ary group (S, f) can be presented in the form

$$f(x_1, x_2, \dots, x_n) = x_1 \circ \varphi(x_2) \circ \varphi^2(x_3) \circ \dots \circ \varphi^{n-2}(x_{n-1}) \circ x_n \circ b,$$

where (S, \circ) is an abelian group, φ its automorphism such that $\varphi^{n-1} = id$ and $\varphi(b) = b$ for some fixed element $b \in S$ (cf. [7]). Moreover, as it is proved in [24] (see also [10]), (A, \circ) , φ and b are uniquely determined.

3. Mal'cev n -semigroups, i.e., n -ary semigroups (S, f) satisfying the identities

$$f(x, y, \dots, y) = x \quad \text{and} \quad f(y, \dots, y, x) = x, \quad (1)$$

studied in [15], are in fact n -ary groups. This follows from Proposition 3.1 in [8]. It also can be deduced from results proved in [25]. Hence, Mal'cev n -semigroups (as n -ary groups) are cancellative, i.e.,

$$f(x_1, \dots, x_{i-1}, a, x_{i+1}, \dots, x_n) = f(x_1, \dots, x_{i-1}, b, x_{i+1}, \dots, x_n) \Rightarrow a = b \quad (2)$$

for all $i = 1, \dots, n$ and $a, b, x_1, \dots, x_n \in S$.

On the other hand, an n -ary semigroup is cancellative if and only if it satisfies (2) for some $i = 2, 3, \dots, n-1$ or, equivalently, for $i = 1$ and $i = n$ (Lemma 2 in [6]). Hence, in an idempotent i -cancellative n -ary semigroup (S, f) we have

$$f(x, y, \dots, y) = f(x, y, \dots, y, f(y, \dots, y)) = f(f(x, y, \dots, y), y, \dots, y),$$

which implies the first identity of (1). Analogously we obtain the second identity. (It is Lemma 3.2 in [15]). Thus an idempotent n -ary semigroup i -cancellative for some $i = 2, \dots, n-1$ or for $i = 1$ and $i = n$ is an n -ary group satisfying (1). Hence, Proposition 3.3 in [15] is trivial.

As a simple consequence, we obtain Theorem 3.5 from [15]: *a Mal'cev n -semigroup is entropic if and only if it is semiabelian.*

4. By Gluskin-Hosszú theorem, for any ternary Mal'cev semigroup (S, f) , as for a ternary group, there exists a group (S, \cdot) , its automorphism φ and an element $b \in S$ such that $\varphi(b) = b$ and

$$f(x, y, z) = x \cdot \varphi(y) \cdot \varphi^2(z) \cdot b.$$

Since a ternary Mal'cev semigroup is idempotent, $\varphi(x) \cdot \varphi^2(x) \cdot b = e$. Hence, $\varphi(x) = x^{-1} \cdot b^{-1}$ and $b^{-1} = \varphi(b^{-1}) = e$. Therefore, $b = e$ and $\varphi(x) = x^{-1}$. Thus,

for any ternary Mal'cev semigroup (S, f) there is an abelian group $(A, +)$ such that

$$f(x, y, z) = x - y + z.$$

From this, as a simple consequence, we obtain all results proved in Section 4 in [15]. Theorem 4.5 in [15] is a special case of Artamonov's Proposition 6 (cf. [2]). It also can be deduced from the description of free n -ary groups presented by Shchuchkin [14, 18, 19] and Sioson [23].

5. We say that an n -ary semigroup (S, f) is *derived* from a semigroup (S, \cdot) if $f(x_1, x_2, \dots, x_n) = x_1 \cdot x_2 \cdot \dots \cdot x_n$ for all $x_1, \dots, x_n \in S$. Obviously, an n -ary semigroup derived from an entropic semigroup is entropic, too. For a *surjective* semigroup, i.e., a semigroup (S, \cdot) with the property $S^2 = S$, we have a stronger result.

Proposition 1. *An n -ary semigroup (S, f) derived from a surjective semigroup (S, \cdot) is entropic if and only if (S, \cdot) is entropic.*

Proof. An entropic n -ary semigroup (S, f) derived from a surjective semigroup (S, \cdot) is semiabelian and each its element can be presented as a multiplication of $n - 1$ elements of S . Thus, for any $x, y, a, b \in S$, we have

$$\begin{aligned} xa \cdot by &= x(a_2a_3 \cdots a_n) \cdot (b_2b_3 \cdots b_n)y = x(a_2a_3 \cdots a_nb_2)b_3 \cdots b_ny \\ &= x(b_2a_3 \cdots a_na_2)b_3 \cdots b_ny = xb_2(a_3a_4 \cdots a_na_2b_3)b_4 \cdots b_ny \\ &= xb_2(b_3a_4 \cdots a_na_2a_3)b_4 \cdots b_ny = xb_2b_3(a_4 \cdots a_na_2a_3b_4)b_5 \cdots b_ny \\ &= \dots = x(b_2b_3 \cdots b_n) \cdot (a_2a_3 \cdots a_n)y = xb \cdot ay, \end{aligned}$$

which completes the proof. □

We say that a semigroup (S, \cdot) is k -*idempotent* ($k > 1$), if for all $x \in S$ we have $x^k = x$. An n -ary semigroup derived from an n -idempotent semigroup is obviously idempotent, but a $(k + 1)$ -ary semigroup derived from a k -idempotent semigroup is not idempotent. So, results proved for n -ary semigroups derived from k -idempotent semigroups are a significant generalization of results proved in [15].

Lemma 2. *Any k -idempotent semigroup has at least one idempotent.*

Proof. In a 2-idempotent semigroup each element is idempotent. It is clear. For $k > 2$, we have $a^{k-1} = a^k a^{k-2} = a^{k-1} a^{k-1}$, which means that in a k -idempotent semigroup each element a^{k-1} is idempotent. □

Proposition 3. *A k -idempotent semigroup is entropic if and only if it is semi-medial.*

Proof. An entropic semigroup is obviously semi-medial. To prove the converse statement observe that in a semi-medial semigroup

$$\begin{aligned}(xyzu)^2 &= (xy(zu)x)yzu = (x(zu)yx)yzu = x(z(uyx)yz)u = x(zy(uyx)z)u \\ &= xzy(uy(xz)u) = xzy(u(xz)yu) = (xzyu)^2\end{aligned}$$

and

$$(xzyu)(xyzu) = xzy(u(xy)zu) = xz((yu)zx(yu)) = (xzyu)(xzyu) = (xzyu)^2.$$

Thus, in a k -idempotent semigroup

$$\begin{aligned}xyzu &= (xyzu)^k = (xyzu)^2(xyzu)^{k-2} = (xzyu)^2(xyzu)^{k-2} = \dots = (xzyu)^k \\ &= xzyu, \quad \text{if } k \text{ is even.}\end{aligned}$$

For $k = 2t + 1$ we have

$$\begin{aligned}xyzu &= (xyzu)^{2t+1} = (xyzu)^2(xyzu)^{2t-1} = \dots = (xzyu)^{2t}(xyzu) \\ &= (xzyu)^{2t-1}(xzyu)(xyzu) = (xzyu)^{2t-1}(xzyu)^2 = (xzyu)^{2t+1} \\ &= xzyu,\end{aligned}$$

which completes our proof. \square

As a consequence, we obtain

Corollary 4. [15, Lemma 6.3] *An n -idempotent semigroup is entropic if and only if it is semimedial.*

Proposition 5. *An n -ary semigroup derived from a k -idempotent semigroup is semiabelian if and only if it is commutative.*

Proof. Let (S, f) be a semiabelian n -ary semigroup derived from a k -idempotent semigroup (S, \cdot) . Then for all $x, y \in S$ we have

$$\begin{aligned}xy &= xx^{k-1}y = xx^{k-1}x^{k-1}y = \dots = xx^{k-1} \dots x^{k-1}y = f(x, x^{k-1}, \dots, x^{k-1}y) \\ &= f(y, x^{k-1}, \dots, x^{k-1}x) = yx^{k-1} \dots x^{k-1}x = yx,\end{aligned}$$

which means that (S, \cdot) is a commutative semigroup. Consequently, (S, f) is commutative, too.

The converse statement is obvious. \square

Corollary 6. [15, Corollary 6.6] *For an n -ary semigroup (S, f) derived from an n -idempotent semigroup (S, \cdot) the following statements are equivalent:*

- (a) (S, f) is semiabelian,
- (b) (S, \cdot) is commutative,
- (c) (S, f) is commutative.

6. Below we present simple proofs of some other results presented in [15]. For this we will use the concept of the covering semigroup.

As is well known (cf. for example [3] or [4]) each n -ary semigroup (S, f) can be isomorphically embedded into some semigroup (S^*, \cdot) , called the *covering* or *enveloping semigroup*, in this way that $f(x_1, x_2, \dots, x_n) = x_1 \cdot x_2 \cdot \dots \cdot x_n$ for all

$x_1, \dots, x_n \in S \subseteq S^*$. The construction of such semigroup is very similar to the construction of the covering group for an n -ary group (cf. [16]). Unfortunately, as it was observed in [9], two non-isomorphic n -ary semigroups (groups) may have the same covering semigroup (group).

Proposition 7. [15, Proposition 5.1] *An associative and idempotent n -ary operation f satisfying the identities*

$$f(x, \dots, x, y) = f(y, x, \dots, x) = f(x, y, x, \dots, x)$$

or

$$f(x, \dots, x, y) = f(y, x, \dots, x) = f(x, \dots, x, y, x)$$

is commutative.

Proof. Let (S, f) be an idempotent n -ary semigroup satisfying the above identities. Then in its covering semigroup (S^*, \cdot) , for every $x, y \in S$, we have $x^n = x$ and $x^{n-1}y = yx^{n-1} = xyx^{n-2}$. So,

$$xy = x^n y = x \cdot x^{n-1} y = x \cdot y x^{n-1} = xy x^{n-2} \cdot x = y x^{n-1} \cdot x = y x^n = yx$$

for every $x, y \in S$. Hence f is a commutative operation. □

An n -ary semigroup (S, f) is called a *left zero n -semigroup* if it satisfies the identity $f(x_1, \dots, x_n) = x_1$. If it satisfies the identity $f(x_1, \dots, x_n) = x_n$, then it is called a *right zero n -semigroup*.

Proposition 8. [15, Proposition 5.3] *Let (S, f) be an n -ary semigroup. If (S, f) satisfies the identity $f(x, \dots, x, y) = x$, then it is a left zero semigroup. If (S, f) satisfies the identity $f(y, x, \dots, x) = x$, then it is a right zero semigroup.*

Proof. In the covering semigroup of (S, f) for all $x, y \in S$ we have $x^{n-1}y = x$ and $x^n = x$. Thus $xy = x^n y = x \cdot x^{n-1} y = xx$, and consequently,

$$\begin{aligned} f(x_1, x_2, \dots, x_n) &= (x_1 x_2) x_3 x_4 \cdots x_n = (x_1 x_1) x_3 x_4 \cdots x_n = x_1 (x_1 x_3) x_4 \cdots x_n \\ &= x_1 x_1 x_1 x_4 \cdots x_n = \dots = x_1 \cdots x_1 (x_1 x_n) = x_1 \end{aligned}$$

for all $x_1, \dots, x_n \in S$. Hence (S, f) is a left zero semigroup.

The second sentence can be proved analogously. □

7. In the case of an n -ary semigroup (S, f) derived from a binary semigroup (S, \cdot) , the generalized entropic property has the form

$$\begin{aligned} (x_{11} \cdots x_{1n}) \cdot (x_{21} \cdots x_{2n}) \cdots (x_{n1} \cdots x_{nn}) = \\ t_1(x_{11}, \dots, x_{1n}) \cdot t_2(x_{12}, \dots, x_{n2}) \cdots t_n(x_{1n}, \dots, x_{nn}), \end{aligned} \tag{3}$$

where t_1, t_2, \dots, t_n are some n -ary terms of (S, f) .

We start with the following two lemmas which are a generalization of results proved in [15] for idempotent n -ary semigroups derived from binary semigroup containing an idempotent element. We do not assume that considered semigroups are idempotent.

Lemma 9. *If an n -ary semigroup (S, f) derived from a binary semigroup (S, \cdot) with an idempotent e satisfies the generalized entropic property (3), then for every $a \in S$ we have*

$$t_1(e, a, e, \dots, e) \cdot e = eae = e \cdot t_n(a, e, \cdot, e).$$

Proof. The proof is the same as the proof of Lemma 6.4 in [15]. \square

Lemma 10. *If an n -ary semigroup (S, f) derived from a binary semigroup (S, \cdot) with an idempotent e satisfies the generalized entropic property (3), then*

$$eabe = ebeae$$

for all $a, b \in S$.

Proof. The proof is the same as the proof of Lemma 6.5 in [15]. \square

Theorem 11. *If an n -ary semigroup (S, f) derived from a k -idempotent semigroup (S, \cdot) has the generalized entropic property, then (S, \cdot) is entropic.*

Proof. For any $a \in S$ consider the set

$$S_a = \{a^{k-1}sa^{k-1} : s \in S\}.$$

It is not difficult to see that (S_a, \cdot) is a semigroup and $e = a^{k-1}$ is its neutral element. So, (S_a, f) is an n -ary subsemigroup of (S, f) . Moreover, from the generalized entropic property (3), for all $x_1, \dots, x_n \in S_a$ we have

$$\begin{aligned} x_1 \cdot x_2 \cdot \dots \cdot x_n &= (x_1 \cdot e \cdot \dots \cdot e) \cdot (x_2 \cdot e \cdot \dots \cdot e) \cdot \dots \cdot (x_n \cdot e \cdot \dots \cdot e) \\ &= t_1(x_1, x_2, \dots, x_n) \cdot t_2(e, e, \dots, e) \cdot \dots \cdot t_n(e, e, \dots, e) \\ &= t_1(x_1, x_2, \dots, x_n). \end{aligned}$$

Thus $t_1(x_1, x_2, \dots, x_n) = x_1 \cdot x_2 \cdot \dots \cdot x_n$. Analogously we obtain $t_k(x_1, x_2, \dots, x_n) = x_1 \cdot x_2 \cdot \dots \cdot x_n$ for other terms t_2, \dots, t_n .

So, in this case, (3) has the form

$$\begin{aligned} (x_{11} \cdot \dots \cdot x_{1n}) \cdot (x_{21} \cdot \dots \cdot x_{2n}) \cdot \dots \cdot (x_{n1} \cdot \dots \cdot x_{nn}) &= \\ (x_{11} \cdot \dots \cdot x_{n1}) \cdot (x_{12} \cdot \dots \cdot x_{n2}) \cdot \dots \cdot (x_{1n} \cdot \dots \cdot x_{nn}), & \end{aligned}$$

which, for $x_{1n} \neq e$, $x_{n1} \neq e$ and $x_{ij} = e$ in other cases, gives the commutativity of (H_a, \cdot) . Therefore, for all $a, b, c \in S$ we have

$$a^{k-1}b \cdot ca^{k-1} = a^{k-1}ba^{k-1} \cdot a^{k-1}ca^{k-1} = a^{k-1}ca^{k-1} \cdot a^{k-1}ba^{k-1} = a^{k-1}c \cdot ba^{k-1}.$$

So, $a^{k-1}b \cdot ca^{k-1} = a^{k-1}c \cdot ba^{k-1}$. This implies $ab \cdot ca = ac \cdot ba$. Thus (S, \cdot) is semimedial. Proposition 3 completes the proof. \square

Corollary 12. [15, Theorem 6.7] *Let (S, f) be an idempotent n -ary semigroup derived from an n -idempotent semigroup (S, \cdot) and assume that (S, f) has the generalized entropic property. Then (S, \cdot) is entropic.*

Theorem 13. *A k -idempotent semigroup has the generalized entropic property if and only if it is entropic.*

Proof. Let (S, \cdot) be a k -idempotent semigroup satisfying the generalized entropic property. Then there are terms t_1 and t_2 such that

$$xy \cdot zu = t_1(x, z)t_2(y, u)$$

for all $x, y, z, u \in S$. By Lemma 2, the set E_S of all idempotents of a semigroup (S, \cdot) is non-empty. Since $ef \cdot ef = t_1(e, e)t_2(f, f) = ef$ for all $e, f \in E_S$, (E_S, \cdot) is a subsemigroup of (S, \cdot) . By [1, Proposition 3.11], (E_S, \cdot) is entropic. This completes the proof for $k = 2$ because in this case $S = E_S$.

For $k > 2$, for every $a \in S$ we have $a = axa$ and $ax = xa$, where $x = a^{k-2}$. So, (S, \cdot) is a completely regular semigroup whose idempotents forms a subsemigroup, i.e., a normal band. Hence, in this case, the proof is identical with the second part of the proof of Theorem 6.8 in [15]. Namely, by [20, Theorem 4.1 and Corollary 4.4], a semigroup (S, \cdot) is a normal band of groups. Thus, by [21, Theorem 3.2], it is a subdirect product of a band B and a semilattice L of groups. Since, by the definition of subdirect product, B and L are homomorphic images of a semigroup (S, \cdot) , they satisfy all identities satisfied by (S, \cdot) . Hence, they satisfy the generalized entropic property. This means that a band B is entropic (see the case $k = 2$). Every group with the generalized entropic property is commutative [1, Proposition 4.7] and a semilattice of commutative groups is commutative. Thus a semilattice L is commutative and hence entropic. Consequently, (S, \cdot) , as a subdirect product of entropic B and L , is entropic. \square

Corollary 14. [15, Theorem 6.8] *An n -idempotent semigroup (S, \cdot) has the generalized entropic property if and only if it is entropic.*

References

- [1] K. Adaricheva, A. Pilitowska and D. Stanovský, *Complex algebras of subalgebras*, (Russian), Algebra Logika **47** (2008), 655 – 686.
- [2] V.A. Artamonov, *Free n -groups*, Math. Notes **8** (1970), 750 – 754 (translation from Mat. Zametki **8** (1970), 499 – 507).
- [3] G. Čupona, *On associatives*, (Macedonian), Makedon. Akad. Nauk. Umet. Oddel. Prirod.-Mat. Nauk. Prilozi **1** (1969), 9 – 20.
- [4] G. Čupona and N. Celakoski, *On representation of n -associatives into semi-groups*, (Macedonian), Makedon. Akad. Nauk. Umet. Oddel. Prirod.-Mat. Nauk. Prilozi **6** (1974), 23 – 34.
- [5] W.A. Dudek, *Remarks on n -groups*, Demonstratio Math. **13** (1980), 165 – 181.

- [6] **W.A. Dudek**, *Autodistributive n -groups*, Commentationes Math. Annales Soc. Math. Polonae, Prace Matematyczne **23** (1983), 1 – 11.
- [7] **W.A. Dudek**, *Medial n -groups and skew elements*, Proc. V Universal Algebra Symposium "Universal and Applied Algebra", Turawa 1988, World Scientific, Singapore 1989, 55 – 80.
- [8] **W.A. Dudek**, *Varieties of polyadic groups*, Filomat **9** (1995), 657 – 674.
- [9] **W.A. Dudek and K. Glazek**, *Around the Hosszú-Gluskin Theorem for n -ary groups*, Discrete Math. **308** (2008), 4861 – 4876.
- [10] **W.A. Dudek and J. Michalski**, *On a generalization of Hosszú Theorem*, Demonstratio Math. **15** (1982), 783 – 805.
- [11] **K. Glazek and B. Gleichgewicht**, *Abelian n -groups*, Coll. Math. Soc. J. Bolyai, **29** Universal Algebra, Esztergom (Hungary), 1977, 321 – 329.
- [12] **L.M. Gluskin**, *Positional operatives*, (Russian), Mat. Sb. (N.S.) **68(110)** (1965), 444 – 472.
- [13] **M. Hosszú**, *On the explicit form of n -group operations*, Publ. Math. Debrecen **10** (1963), 88 – 92.
- [14] **V.M. Kusov and N.A. Shchuchkin**, *Free abelian semicyclic n -ary groups*, (Russian), Chebyshevskii Sb. **12** (2011), no. 2(38), 68 – 76.
- [15] **E. Lehtonen and A. Pilitowska**, *Entropicity and generalized entropic property in idempotent n -semigroups*, Semigroup Forum **91** (2015), 260 – 281.
- [16] **E.L. Post**, *Polyadic groups*, Trans. Amer. Math. Soc. **48** (1940), 208 – 350.
- [17] **V.A. Shcherbacov**, *On the structure of left and right F -, SM - and E -quasigroups*, J. Gen. Lie Theory Appl. **3** (2009), 197 – 259.
- [18] **N.A. Shchuchkin**, *Free abelian n -ary groups*, (Russian), Chebyshevskii Sb. **12** (2011), 163 – 170.
- [19] **N.A. Shchuchkin**, *Free semiabelian n -ary groups*, Quasigroups and Related Systems **23** (2015), 309 – 317.
- [20] **M. Petrich**, *Regular semigroups satisfying certain conditions on idempotents and ideals*, Trans. Am. Math. Soc. **170** (1972), 245 – 267.
- [21] **M. Petrich**, *Regular semigroups which are subdirect products of a band and a semi-lattice of groups*, Glasgow Math. J. **14** (1973), 27 – 49.
- [22] **K.K. Shchukin**, *Action of a group on a quasigroup*, (Russian), Khishinev State Univ., 1985.
- [23] **F.M. Sioson**, *On free abelian n -groups II*, Proc. Japan. Acad. **43** (1967), 880 – 883.
- [24] **E.I. Sokolov**, *The Gluskin-Hosszú theorem for Dörnte n -groups*, (Russian), Mat. Issledovanya **39** (1965), 187 – 189.
- [25] **V.I. Tyutin**, *About the axiomatics of n -ary groups*, (Russian), Doklady Akad. Nauk BSSR **29** (1985), 691 – 693.

Received August 20, 2016

E-mail: sonia.dog@sovamua.com